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‘The Cessna Aircralt Company has outstanding an issue of 8-percent convertible bonds that
mature in 2012. Suppose the bonds were dated October 1, 1992, and pay interest each April 1 and-
October 1. Cessna uses the effective interest method to amoriize bond prermum or discount.

Bond Data:

Maturity v

aluc—5$100,000

Contract interest rate—8%

[nterest pa

id—4% scrmiannually, $4,000 (‘HUU 000 x 0.04) -

Market interest rate at the time of issue—9% annually, 4 1/2% semiannually

[ssue price
Regquired

Prepare the jo

¢ =

—00 3/4

urnal entries to record the [ollowing tansactions.

Tssuance of the bends on October 1, 1992, _
Accrual of interest and amortization of discount on Decerber 31, 1992,

Payinent of interest and amortization of discount on Apiil 1, 1993
d. Conversion of one-third of the bonds payable into no- par stock oh October 2, 1994
¢.  Retivement of two-thivds of Llu: bonds payable on October 2, 1994. Purchase price of the
bonds was 102,
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. Use the following adjusted trial balunce and additional information to complete tht. require-

ments:

YE OLDE JUNQUE AND STUFT
Adjusted Trial Balance
December 31, 19X2

Cash ... . $ 19,000
Merchandisc inventory ... ... ..., 52,000
Slore supplies .. ....... ... .. ..., 1,000
Equipment .. ... .. ... ... . . ..., 40,000
Accumulated depreciation, equipment . . $ 16,500
Accounts payable .. ... ... .. ... . 8,000
Salaries payable . ......... ..., . 1,000
Amn Teak, capital ..............., ' 69,000
Ann Teak, withdrawals ., ... ., ... .. §,000
Sales ..o 320,000
Salesdiscounts . .. ... ... ... . .. ... 20,000
Purchases ... ... ...... ... ... ... 147,000
Porchases discounts . ... ... ..., ... 12,000
Transporttation-in .. ..., ....... .., 11,000
Depreciation expense .. ..., ... .. .. 5,500
Salarics expense ... ... ... ... . ... 60,000
Insurance expense .. ..., ... ... .., 12,000
Rentexpense .............. .. ... 24,000
Store supplies cxpense .. ... ... .. .. 6,000
Advertising expense . ..., ... ..., 21,000
Totals ..o $426,500  $426,500

Required

1.Calculate

the company's net income for 19X2.

(16%) 2.Prepare closing entries.

A physical count shows that the cost of the year's ending inventory is $50,000.
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=~ The income stalement for the year ended December 31, 1996, for John Kosinski
Manufacturing Company contains the following condensed information:

Revenues $6,583,000
Operating expenses {excluding depreciation} - $4,920,000

Depreciation expense : - 880,000 3,800,000
Income belore income taxes ' 783,000
Income tax expense ' 353,000
Net income _ % 430,000

Included in operating expenses is a $24,000 loss resulting from the sale of machinery for
$270,000 cash. Machinery was purchased at a cost of $750,000. The following balances are
reported on Kosinski's comparative balance sheet at December 31:

1996 1995
Cash $672,000 $130,000
Accounts receivable 775,000 610,000
Inventories 834,000 867,000
Accounts payable 521,000 501,000

Income tax expense of $353,000 represents the amount paid in 1996. Dividends declared
and paid in 1996 totaled $200,000. :

Reqm’rfd :
(24%) Prepare the statement of cash flows using the indirect method.
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